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Coincident with the increase in women working outside the home is the increase in
divorcerates. Yet, it may be wrong to jump to any simple cause-and-effect conclusions.
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0 O O The arrival of the train was coincident with the start of the rain.
Ooo0ooooooooogoo

2.increase0 0 00O DOOOO0O

O O O There has been a significant increase in the number of people using public
transportation. 0 0 0 00000000 OOOOO

3. women working outside thehome OO0 00000 0ODO0OOOOODODOODODOO

O O O In recent years, more and more women are choosing to work outside the home.
0o0ooooooooooooooon

4. divorceratesd O OO

O O O Divorce rates have been on the rise in many countries.
oodoodooooooood

S5.jumptoconclusions0 D 0000000 OO0OOOOO0OO

0 O O We should avoid jumping to conclusions before we have all the facts.
O0O00oo0oDbDoOoOO0OooooOooOogoooDoooDd

6. cause-and-effect conclusionsD D O 0 0000 QO0OooOoOOO
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O O O Scientists have drawn cause-and-effect conclusions about the link between
smokingand lungcancer. O 000000000 O0DO0OOOoOOOOOOOOO
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The impact of a wife’ s work on divorce is no less cloudy than its impact on marriage
decisions.
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O O O The new policy had a significant impact on the economy.
oooooooooooood

2. marriage decisionst] 0O [ [0 [

0 O O Making marriage decisions is often a difficult and emotional process.
Oo0o0oooDoooooooooooooood
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O O O The future of the industry remains cloudy due to economic uncertainties.
Oo0o0o0o0obOoooOooooooooooon
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The realizationthat she can be a good provider may increase the chances that a working
wife will choosedivorce over an unsatisfactory marriage. But the reverse is equally

plausible.
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O O O The realization of her potential inspired her to pursue her dreams.
0do0dDoD0odoodoooooooooood

2.providerd DO OO OO0
0 O O He is the sole provider for hisfamily. D 00D 00000 OODOO
3.increase the chancesD O O O 0O 0O O

O O O Taking regular exercise can increase the chances of staying healthy.
odo0odbDoonooooogood

4.reverse(D 000000 ODODOOODOOODOO
O O O The reverse of thisargumentisalsotrue. D 0D 00O OO0DO0OOOOO
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S.plausibleD0 000 00O0OOOOOO

00 O O His explanation for being late was plausible, but I still had my doubts.
Oo0o0ooooooooooooooooon
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